

A11828130 © Miami MLS® 2025



\$2,500,000

2108 24TH ST, WILTON MANORS, FL, 33305

<https://ritterproperties.com>

Home for entertaining. Ocean access. Dock available. View is lake; not canal. Faces west for ultimate sunsets. 2 sets of sliding doors open to pool and outdoor bar/deck. Zero scape: Indigenous and exotic plants/trees. No grass to mow. parking in 3 car driveway plus 2.5 car garage; new epoxy floor. Street is double cul de [...]

- 3 beds
- 3 baths
- Residential
- Single Family Residence
- Active
- 2824 sq ft

Basics



Date added: Added 9 months ago

Type: Residential

Bedrooms: 3 beds

Half baths: 0 half baths

Area: 2824 sq ft

SubdivisionName: CORAL POINT

GarageSpaces: 2

ListAOR: Miami Association of REALTORS®

Category: Single Family Residence

Status: Active

Bathrooms: 3 baths

Total rooms: 11

Lot size, sq ft: 6672 sq ft

ListOfficeName: Beycome of Florida LLC

View: Intracoastal View, Lake

MLS ID: A11828130

Rooms



Room type	Dimensions	Area	Length	Width
Den	14' x 10'3	143.5	14	10.25
UtilityRoom	12'8 x 10'3	129.833333	12.666666	10.25
PatioBalcony	9' x 8'6	76.5	9	8.5
DiningRoom	12'6 x 16'1	201.041666	12.5	16.083333
FamilyRoom	33'10 x 17'10	603.361111	33.833333	17.833333
PrimaryBedroom	18'.1 x 17'.10	306.291736	18.008333	17.008333
SecondBedroom	12'1 x 11'5	137.951388	12.083333	11.416666
ThirdBedroom	12'1 x 9'11	119.826388	12.083333	9.916666
Kitchen	12'6 x 25'5	317.708333	12.5	25.416666
LivingRoom	19.4 x 15'10	307.166666	19.4	15.833333
Other Room	9' x 13'7	122.25	9	13.583333

Building Details



Cooling features: Ceiling Fan(s), Central Air, Zoned

ArchitecturalStyle: Detached, Two Story

Building Name: CORAL POINT

Exterior material: Frame With Stucco

Parking: Driveway, Guest, On-street

Year built: 1972

NewConstructionYN: No

Heating: Central

Roof: Metal Roof

Amenities & Features

Features: Attic, Bar, Closet Cabinetry, Cooking Island, Den/Library/Office, Entrance Foyer, Family Room, First Floor Entry, Great Room, Separate Guest/In-Law Quarters, Utility Room/Laundry, Walk-In Closet(s), Wet Bar

Spa Features: Community

CommunityFeatures: Bar, Gas Metered, Public Road, Spa/Hot Tub, Street Lights, Workshop

ExteriorFeatures: Lighting, Open Balcony, Outdoor Shower

Waterfront available: Yes

AttachedGarageYN: Yes

PoolPrivateYN: No

Security Features: Fire Alarm

Amenities: Dishwasher, Disposal, Dryer, Electric Range, Electric Water Heater, Free-Standing Freezer, Microwave, Refrigerator, Wall Oven, Washer

WindowFeatures: Hurricane Shutters

PoolFeatures: In Ground, Fiberglass, Pool/Spa Combo

GarageYN: Yes

CoolingYN: Yes

FireplaceYN: No

